AFSEE HERE(KE
B Al A P 7K i< &=
;fgg BFHZ (T TL BEMRK)
8:00 HEiooH =iEFE 1 —~ 54 (FH#HHF - FEE OBUK)
(=B =758 6 4)
8:15| == = 2 Bl A
MELXA A FHANEA N OB R #E #NF A A
P £ it o (Atko£)
Gl @FEH2 CEATA =
ayry) | EREED FUA) (4 ERD H)
5 20 B D= (T B - BE)D (1 053
8: 40
9 : 25 1 1 1 1 1
9:35
10: 20 2 2 2 2
1ei%e 2 BERE DR ZBER] (2 0 5))
10:40
11:25 8 3 3 3 3
11 : 35
12: 20 4 4 4 4 4
12:20 N < N
12.20 M EDOHEE (2 0 543)
1300 %efr (2 045
190 FERED AT (1 049
: g ;g {EfwEFE (1 5 53) TASEIC0 47) | 3 B
: IR R (5 5y
as 5y)
13:25 B R ORI EERE]

: - . BR ORI
18:45 ) (P oUEM - BEN(2 045 O B[ (20 45
13:45 5 5 13:25~14:10 5
14:30 ﬁ”wf

10 43 1~64E
14:30 Jmv o= (1 0%3) JF o=
14:40 6 (10 43
3~6%
14:40 14:20~15:05 | SRVZE T2
6 6 6 14:50
15:25 %f’i’;ﬁ(glﬁ) 4~64F 2~ 6% (10 4%)
15:25 | (4~64) Jm o= (1 0%5y) MREETR
15: 35 | xs57 &8 15:25
12HERE 604
14:50~
*2FHE Y
3~64 61k
165:45 XIBETK 1545




